Name: H'@/‘/J\ Circles
ARCS AND CHORDS NOTES (10.3)

In a circle or in congruent circles, Examples: A

two minor arcs are congruent if and W28 = D B
only if their corresponding chords bt

are congruent. AB = @. .
Abbreviations: 4B =@, P

In ®, 2 minor arcs are =, corr. AB = TD.

chords are =.

In ®, 2 chords are =, corr. minor arcs are =.

The chords of adjacent arcs can form a pﬂ\%%&
Quadrilateral ABCD is an m_SCﬂ_DQd_ polygon because all

of its vertices lie on the circle.

Circle E is Cil (' “QS:j lh:@(! about the polygon because it

contains all the vertices of the polygon.

Let’s see some examples:

AL+ LA +X = 3O
WY = 3LO

B:qov\ )(’UO‘\




Theorem:
In a circle, if a diameter (or radius) is perpendicular to a chord, then it BISECTS the

chord and its arc.

With your shoulder partner, define the word bisect and write it down: +D C,LL“'

QS%rM\* inth Z 2 parts.

1. Find the length of ]T/I_ 2. Find x.
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Example 3: Given the information below, find CX, OX, XB, and the mCD.

 Circle O has a radius of 13 inches. Radius OB is perpendicular to
chord CD, which is 24 inches long.




In a circle or in congruent circles, two chords are congruent if and only if they are

cquidishany  Fom ne. Conder

Example 4: Find x.

X=15

Example 5: Chords ACand DF are equidistant from the center. If the radius of
Circle G is 26m, find FE, DE, AB and AC.

FE =

T~ ;




